»

- AN | § i §
o -
WO|| [E=335 3
|l =52 s
o |
El =22
OX|| g2 2
i L oo
NIV |2 85 2
- S | 257 %
i
8
=z 4
=
§ <<
&
G
- —
14
o I ‘m - (1N ] <
.\ o L T (LI,.)I
IdL \ o wl 2 .
_LW\ : — %W e
- W \ % m ~
@7 L - :IL 2 S (L%
— oo =
L iL i\; i\? ox X
) = || N o
[
~a
- =
=35
» o
o x
» 2 W
[ ([ 4= o
x 21'-0" - 53
N2
o Z ~
] ]
x |, @
-
© g
55
MODEL 55
o
o
NR-0221AS
DRAWN BY
MME
CHECKED BY
TLC
DATE
11701/2016
SCALE
JOB NO.
CS.1 — COVER SHEET ~
SP.1 — BLEACHER SEATING PLAN NRDSGZNZOIAS
FB.1 — FRAME AND BRACING
BA.1 — BLEACHER ASSEMBLY CS 1

FP.1

FOUNDATION PLAN



AutoCAD SHX Text
CS.1

AutoCAD SHX Text
SP.1

AutoCAD SHX Text
BA.1

AutoCAD SHX Text
FB.1

AutoCAD SHX Text
 - COVER SHEET

AutoCAD SHX Text
 - BLEACHER SEATING PLAN

AutoCAD SHX Text
 - FRAME AND BRACING

AutoCAD SHX Text
 - BLEACHER ASSEMBLY

AutoCAD SHX Text
FP.1

AutoCAD SHX Text
 - FOUNDATION PLAN


(D TYP 2x10 ENDCAP ATTCH. W/LABEL |(2) TYP 2x10 ENDCAP ATTACHMENT
#8 X 1" STAINLESS SCREW #38 X 1/2" STAINLESS SCREW
2 X 10 PLANK 2 X 10 PLANK
(UPSIDE DOWN) (UPSIDE DOWN)
|
2X10 ENDCAP—_ RN
LABEL
NOT TO SCALE NOT TO SCALE ENDCAP
21 I_OII
1'-6" TYP. 6'-0" O.C.
OVERHANG TYP.
10" ANODIZED\ Il Il Il Il
SEAT PLANKS 5 — —
X-BRACE
10" MILL FINIS i
FOOT PLANKS S IS IS IS &
< < < < N
TREAD ENDCAPS x x x e
ARE PLAIN
SEAT ENDCAPS
HAVE LABEL

SECTION GROSS ACTUAL NO.OF NET
LENGTH SEATS SEATS ROWS SEATS

21 14.00 14.00 2 28
NET SEATS 28
WHEELCHAIR SPACES 0

TOTAL NET SEATING CAPACITY 28
(BASED ON 18" PER SEAT)

S CERTIFIED]
< FABRICATOR

3!_15!!

K
(1)
P

SEATING PLAN

SCALE: 3/8"=1"-0"

LOCAL CODES AND SPECIFICATIONS WILL
VARY FROM REGION TO REGION AND WILL
ALSO CHANGE OVER TIME. IT IS THE
BUYER'S RESPONSIBILITY TO CHECK LOCAL
CODES FOR COMPLIANCE.

»

Fax: 813-305-1419
www. gtgrandstands.com

2810 Sydney Road
Plant City, Florida 33566

Phone: 813-305-1415

A PLAYCORE company

GT GRANDSTANDS ™

SEATING PLAN
2 ROW BLEACHER
8" RISE / 10" SEAT

NR-0221AS
NR SERIES

DRAWN BY
MME

CHECKED BY
TLC

DATE
1170172016

SCALE

3/8"=1'-0"

JOB NO.

NR-0221AS

DWG NO

SP.1




(D TYP X—BRACE CONN. W/ 1% BOLT

(2 TYP X-BRACE CONN. W/ 1% BOLT

(O RUBBER FOOT PAD ATTACH. DETAIL

(O(OPTIONAL)MUD SILL ATTACHMENT

S CERTIFIED]
< FABRICATOR

/ BLEACHER FRAME FLAT BAR
%:> TYP X-BRACING ANGLE
/ pIEEIY BLEACHER FRAME
g, .
N Y
PN o
RUBBER FOOT PAD ATTACH TREATED WOOD SILL
2 RD MO MAGH TO BOTTOM FRAME RUNNER
" " x1-1/4" USING 3/8" X 1-1/4" LAG SCREW
3/8 X 1-1/4 HEX HD 3/8" X 1-1/14" HEX HD. SCREW, FLAT WASHER & WITH FLAT WASHER
NOT TO SCALE BOLT&FLANGENUT  |NOT TO SCALE _ BOLT & FLANGE NUT NOT TO SCALE __FLANGE NUT. NOT TO SCALE
BLTHH12108G
NUTF12G
AF-060208
FA-02N FLAT BAR ]
N ) —

¥ ANGLE

0 .
9]
AG-060208 Q

FRAM

E SECTION

SCALE: NTS

PRE-ASSEMBLE X-BRACE SETS. EACH SET
CONSISTS OF AN ANGLE AND A FLAT BAR.
PLACE THE PIECES TOGETHER AT THE FLAT
SIDE AND CONNECT USING A 3/8" X 1 1/4 HEX
BOLT & FLANGE NUT.

2810 Sydney Road
Plant City, Florida 33566

Phone: 813-305-1415

»

Fax: 813-305-1419
www. gtgrandstands.com

A PLAYCORE company

GT GRANDSTANDS ™

2 ROW BLEACHER
8" RISE / 10" SEAT

FRAME AND BRACING

NR-0221AS

OPTIONAL -MS (MUD SILL)
OPTIONAL -RB (RUBBER BUMPERS)

DRAWN BY
MME

CHECKED BY
TLC

DATE
1170172016

SCALE
AS SHOWN

JOB NO.

NR-0221AS

DWG NO

FB.1



AutoCAD SHX Text
RUBBER FOOT PAD ATTACH. DETAIL

AutoCAD SHX Text
TYP X-BRACE CONN. W/ 1¼ B0LT


(D TYP 2x10 PLANK ATTACHMENT

(2) OPTIONAL ANCHOR WEDGE DETAIL*

5/16 CARRIAGE BOLT
TYP. HOLD
/ DOWN CLIP

WEJHT TITE
1/2'@x3-3/4" WEDGE
ANCHOR (GALV)

S CERTIFIED]
< FABRICATOR

BOTTOM RUNNER ANGEL
OF BLEACHER FRAME OR EQUIVALENT
(MIN. EIIVIBED 1-5/8")
wtr] |
| | ST T A AP N R
'UiII' MIN. 4" THICK CONCRETE SLAB
T W/6X6-W1.4xW1.4 WWF
FLANGE NUT
NOT TO SCALE NOT TO SCALE
NOTE: LEAVE FLANGE NUT LOOSE UNTIL 3 1z,,
CLIPS HAVE BEEN SECURED TO PLANKS. "'8
' lll
2 '92
2‘_0"
2X10 ANNOD|ZED/'I% g
5 SEAT PLANK s
FA-O2N\ _ |
? DBL 2X10 MILL FINISHED w
:T FOOT PLANK ‘i\Nié
- AN
“ A © D
X
o
\ ] ] \
a ) . N5 @, | E
4 A
1= &
MIN ‘:“,
4!_91"
2
BLEACHER ASSEMBLY

SCALE: 11/2"=1'-0"

*CONCRETE WEDGE ANCHORS NOT INCLUDED WITH ALL UNITS. IF USING OTHER ANCHORING
SYSTEM, SKIP THIS STEP AND REFER TO INSTRUCTIONS SPECIFIC TO THE ANCHORING SYSTEM
PURCHASED FOR YOUR UNIT. SEE PRINT FP.1 (INCLUDED IN THIS PACKET) FOR GENERAL
CONCRETE FOUNDATION SPECIFICATIONS.

2810 Sydney Road

©o 1S
© o
mamu
Dt A »
R
.
o wm T =
T Own 3
T Mo h
Smh®B
L < n
.0~ T
>
o =
O i oo
+ O © :
C cuw =
L a =
o =

GT GRANDSTANDS™ u
A PLAYCORE company

BLEACHER ASSEMBLY
2 ROW BLEACHER
8" RISE / 10" SEAT

NR-0221AS

(OPTIONAL CONCRETE FOUNDATION)
NR SERIES

DRAWN BY
MME

CHECKED BY
TLC

DATE
1170172016

SCALE
AS SHOWN

JOB NO.

NR-0221AS

DWG NO

BA.1



AutoCAD SHX Text
TYP 2x10 PLANK ATTACHMENT

AutoCAD SHX Text
OPTIONAL ANCHOR WEDGE DETAIL*


I 1| 8 £ |
Qx D Do O
WOl [E- =233
L<|| Fesual &
=Jll |zE98 3
- C Om™MT
& [EEEg s
L a o @ .. -.t:_\JD
DSV Reo o
N cuw =
osa =
o z
H
E
i
K
21"0" % %
=
=
©
1-6" TYP o
OVERHANG 6'-0" O.C. 10'-6" O.C.
TYP TO (E
/ FRAME OUTLINE
Z o
< <
yd IR
o :[) 17)
Z =
w w w w o ﬂ o
= = = = E o~
< < < < <
N 4 4 4 4 oz W
3 T T ™ ™ Z3 @
S X
L N o
-~ OUTSIDE EDGE
OF FOUNDATION
AY
1'-8" MIN. TO FRONT __ | CENTERLINE OF BLEACHER
EDGE OF FRAME @
OPTIONAL FOUNDATION PLAN*
SCALE: 3/8"=1'-0" n n
< W
~ o
~ w
C|> wn
o o
=z pd
DRAWN BY
MME
CHECKED BY
TLC
DATE
1170172016
SCALE
AS SHOWN
JOB NO.
* MINIMUM FOUNDATION AREA SHOWN. DEPENDING ON LOCAL SOIL CONDITIONS, BLEACHER CAN BE INSTALLED ON A CONCRETE PAD OR FOOTERS, OR ATTACHED
TO 2x6 TREATED LUMBER GROUND SILLS AND PLACED ON COMPACTED STONE, ASPHALT, OR ANY OTHER SMOOTH, SOLID, LEVEL SURFACE. CONSULT YOUR LOCAL NR-0221AS
CONCRETE CONTRACTOR TO DETERMINE PROPER CONCRETE SPECIFICATIONS FOR YOUR LOCAL SOIL AND WEATHER-RELATED CONDITIONS. THE BEARING SURFACE DWG No
MUST BE CAPABLE OF SUPPORTING A MINIMUM OF 660 POUNDS PER LINEAR FOOT. TO MEET LOCAL CODES, BLEACHERS WILL NEED TO BE ANCHORED. ANCHORING FP 1
SYSTEMS FOR ALL SURFACE TYPES ARE AVAILABLE - CONTACT YOUR BLEACHER SALES REPRESENTATIVE FOR MORE INFORMATION. .




	Sheets and Views
	NR-0221AS (-MS and -RB)-COVER
	NR-0221AS (-MS and -RB)-SEATING PLAN
	NR-0221AS (-MS and -RB)-FRAME AND BRACING
	NR-0221AS (-MS and -RB)-BLEACHER ASSEMBLY
	NR-0221AS (-MS and -RB)-FOUNDATION PLAN


